

BID FORM

Project Identification:

The project consists of earthwork, water main, sanitary sewer, and pavement improvements for the Southwest First Addition. The project includes approximately 8,100 square yards of concrete roadway paving, 2,200 linear feet of storm sewer, 2,200 linear feet of water main, 3,100 linear feet of sanitary sewer including services and all other associated work as indicated on the drawings and within the specifications.

Contract Identification and Number:

Southwest First Addition Lexington, Nebraska – 2017 OA Project No. 016-3239

ARTICLE 1 - BID RECIPIENT

1.01 This Bid is submitted to:

Olsson Associates c/o Matt Rief 201 E 2nd Street Grand Island, Nebraska 68801

1.02 The undersigned Bidder proposes and agrees, if this Bid is accepted, to enter into an Agreement with Owner in the form included in the Bidding Documents to perform all Work as specified or indicated in the Bidding Documents for the prices and within the times indicated in this Bid and in accordance with the other terms and conditions of the Bidding Documents.

ARTICLE 2 – BIDDER'S ACKNOWLEDGEMENTS

2.01 Bidder accepts all of the terms and conditions of the Instructions to Bidders. This Bid will remain subject to acceptance for 60 days after the Bid opening, or for such longer period of time that Bidder may agree to in writing upon request of Owner.

ARTICLE 3 - BIDDER'S REPRESENTATIONS

- 3.01 In submitting this Bid, Bidder represents that:
 - A. Bidder has examined and carefully studied the Bidding Documents, and any data and reference items identified in the Bidding Documents, and hereby acknowledges receipt of the following Addenda:

Addendum No.	Addendum Date
	POR AND

- B. Bidder has visited the Site, conducted a thorough, alert visual examination of the Site and adjacent areas, and become familiar with and satisfied itself as to the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
- C. Bidder is familiar with and has satisfied itself as to all Laws and Regulations that may affect cost, progress, and performance of the Work.
- D. Bidder has carefully studied all: (1) reports of explorations and tests of subsurface conditions at or adjacent to the Site and all drawings of physical conditions relating to existing surface or subsurface structures at the Site that have been identified in the Supplementary Conditions, especially with respect to Technical Data in such reports and drawings, and (2) reports and drawings relating to Hazardous Environmental Conditions, if any, at or adjacent to the Site that have been identified in the Supplementary Conditions, especially with respect to Technical Data in such reports and drawings.
- E. Bidder has considered the information known to Bidder itself; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Bidding Documents; and any Site-related reports and drawings identified in the Bidding Documents, with respect to the effect of such information, observations, and documents on (1) the cost, progress, and performance of the Work; (2) the means, methods, techniques, sequences, and procedures of construction to be employed by Bidder; and (3) Bidder's safety precautions and programs.
- F. Bidder agrees, based on the information and observations referred to in the preceding paragraph, that no further examinations, investigations, explorations, tests, studies, or data are necessary for the determination of this Bid for performance of the Work at the price bid and within the times required, and in accordance with the other terms and conditions of the Bidding Documents.
- G. Bidder is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Bidding Documents.
- H. Bidder has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Bidder has discovered in the Bidding Documents, and confirms that the written resolution thereof by Engineer is acceptable to Bidder.
- I. The Bidding Documents are generally sufficient to indicate and convey understanding of all terms and conditions for the performance and furnishing of the Work.
- J. The submission of this Bid constitutes an incontrovertible representation by Bidder that Bidder has complied with every requirement of this Article, and that without exception the Bid and all prices in the Bid are premised upon performing and furnishing the Work required by the Bidding Documents.

ARTICLE 4 – BIDDER'S CERTIFICATION

4.01 Bidder certifies that:

- A. This Bid is genuine and not made in the interest of or on behalf of any undisclosed individual or entity and is not submitted in conformity with any collusive agreement or rules of any group, association, organization, or corporation;
- B. Bidder has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid;
- C. Bidder has not solicited or induced any individual or entity to refrain from bidding; and

- D. Bidder has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for the Contract. For the purposes of this Paragraph 4.01.D:
 - 1. "corrupt practice" means the offering, giving, receiving, or soliciting of any thing of value likely to influence the action of a public official in the bidding process;
 - 2. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process to the detriment of Owner, (b) to establish bid prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
 - 3. "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish bid prices at artificial, non-competitive levels; and
 - 4. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

ARTICLE 5 - BASIS OF BID

5.01 Bidder will complete the Work in accordance with the Contract Documents for the following price(s):

BID SECTION "A": SANITARY SEWER

Item No.	Description	Unit C Bid Unit Price		Bid Price			
1.	Mobilization	L.S.	1	3500."	*3500.00		
2.	12" PVC Sanitary Sewer Pipe	L.F.	1325	#34.0°			
3.	8" PVC Sanitary Sewer Pipe	L.F.	610	\$19.25	*45,050. °°		
4.	6" PVC Sanitary Service Pipe	L.F.	240	°22. °°	\$5, 280.00		
5.	4" PVC Sanitary Service Pipe	L.F.	1190	"17.50	20,825.00		
6.	48" Sanitary Sewer Manhole	EA.	7	"3360."°	23 100.		
7.	8" Сар	EA.	1	²⁵ 125.°°	125.00		
8.	4" Service Cap	EA.	40	380. °°	3200.°°		
9.	12"X4" Service Wye	EA.	32	245.00	* 7840.°°		
10.	8"X4" Service Wye	EA.	8	25.00	4 6co		
11.	8"X6" Service Wye	EA.	4	100.00	400.00		
Total of	Total of All Bid Section "A" Unit Price Bid Items						

Item No.	Description	Unit	Estimate d Quantity	Bid Unit Price	Bid Price		
1.	Mobilization	L.S.	1	"550."	350.00		
2.	8" PVC Water Main	L.F.	2162	\$23,00	*49,726.°°		
3.	Directional Drill 8" PVC Water Main	L.F.	80	s 95.00	7,600.00		
4.	6" PVC Water Service	L.F.	226	#21.00	47.46.°°		
5.	8" Gate Valve w/Box	EA.	9	"1500.°°	13,500.		
6.	6" Gate Valve w/Box	EA.	4	2150.00	7,600.		
7.	8" M.J. Tee	EA.	3	- 330.°°	£ 996.		
8.	8"X6" M.J. Tee	EA.	8	290.00	2320.		
9.	8" M.J. 90 ^o Bend	EA.	2	320-°	640.00		
10.	8" M.J. 45 ^o Bend	EA.	4	250.	1668.		
11.	8" M.J. 22.5 ^o Bend	EA.	1	256. °°	250.00		
12.	8" M.J. 11.25 ^o Bend	EA.	2	25'0.00	4500.00		
13.	8" M.J. Plug	EA.	1	156.60	150.00		
14.	8" M.J. Cap	EA.	3	156.60	2/5'0.00		
15.	6" M.J. Plug	EA.	4	156.	600.00		
16.	Fire Hydrant Assembly w/Aux. Valve	EA.	4	*4900.°	19,600.		
17.	Wet Cut-In	EA.	1	<i>₹75'0.</i> °°°	³ 750. °°		
18.	1" Service Tubing	L.F.	1102	£13,60	14,987.20		
19.	1" Corporation Stop	EA.	40	"350.°°	14,000.00		
20.	1" Curb Stop w/Box	EA.	40	"35°0."	2/4,000. °°		
21.	Temporary Testing Tap	EA.	3	295.°°			
Total of	All Bid Section "B" Unit Price Bid I	\$ 151, 844.20					

BID SECTION "C": PAVING

Item No.	Description	Unit	Estimate d Quantity	Bid Unit Price	Bid Price		
1.	Mobilization	L.S.	1	#9000.°°	9000.		
2.	6" Concrete Pavement w/ Integral Curb	S.Y.	8116	*31.5°	255, 654.		
3.	5" Concrete Sidewalk	S.Y.	1987	# 4/4,00	\$87,428.		
4.	Build Curb Inlet	EA.	10	1950.°°	19,500.00		
5.	Build Concrete Collar	EA.	1	\$ 650.°°	\$650.°°		
6.	Build Drain Basin	EA.	1	*2700.°°	2700.00		
7.	Build Storm Sewer Junction Box	EA.	4	2800.	11,200.00		
8.	Detectable Warning Panel	S.F.	126	28.00	3528.°°		
9.	12" HDPE Storm Sewer	L.F.	125	*32.°°	5300. °°		
10.	15" RCP Storm Sewer	L.F.	36	30.00	1080.		
11.	18" RCP Storm Sewer	L.F.	439	*38.00	26,682.00		
12.	24" RCP Storm Sewer	L.F.	293	246.00	313,418.		
13.	30" RCP Storm Sewer	L.F.	1245	#88.00	"109,560."		
14.	36" RCP Storm Sewer	L.F.	91	2115.00	10,465.00		
15.	42" Storm Sewer	L.F.	144	133.00	19.440.00		
16.	Remove Pavement	S.Y.	20	8 9. °°	180.00		
17.	Remove 30" Storm Sewer F.E.S.	EA.	1	*35°°	350.		
18.	Curb Inlet Sediment Filter	EA.	10	£ 110.00	1100.00		
19.	Area Inlet Sediment Filter	EA.	1	#/10.00	110.00		
20.	Temporary Erosion Control	L.F.	1515	5. °°	*7575.		
21.	Rock Construction Entrance/Exit	EA.	2	1000.	# 2000. " »		
22.	Cover Crop Seeding	AC.	8	2450.°°	3600.		
23.	Overexcavation	L.S.	1	7500.	7500.		
24.	Earthwork	L.S.	1	219,000.00	219,000.00		
otal of	All Bid Section "C" Unit Price Bid Ite	ems			\$ 805, 780.		

Total 1,079,286.

Bidder acknowledges that (1) each Bid Unit Price includes an amount considered by Bidder to be adequate to cover Contractor's overhead and profit for each separately identified item, and (2) estimated quantities are not guaranteed, and are solely for the purpose of comparison of Bids, and final payment for all unit price Bid items will be based on actual quantities, determined as provided in the Contract Documents.

ARTICLE 6 - TIME OF COMPLETION (TO BE COMPLETED BY BIDDER)

6.01	Bidder a	grees t	hat the	Work	will	be s	ubstantially	complete	on	or	before
	Sep7	1. K 0	2017		, and	d lliw k	e completed	and ready	for final	рау	ment in
	accordance	e with	Paragrap	h 15.0	6 of	the	General	Conditions	on	or	before
	Sept.	10,20	17		 •						

6.02 Bidder accepts the provisions of the Agreement as to liquidated damages.

ARTICLE 7 – ATTACHMENTS TO THIS BID

- 7.01 The following documents are submitted with and made a condition of this Bid:
 - A. List of Proposed Subcontractors;
 - B. Construction Schedule.

ARTICLE 8 – DEFINED TERMS

8.01 The terms used in this Bid with initial capital letters have the meanings stated in the Instructions to Bidders, the General Conditions, and the Supplementary Conditions.

ARTICLE 9 - BID SUBMITTAL

BIDDER: [Indicate con	rect name of bidding entity]
	PAULSEN, INC.
By: [Signature]	YP
[Printed name]	LARRY PAULSEN
(If Bidder is a corpord evidence of authority	tion, a limited liability company, a partnership, or a joint venture, attach
Attest: [Signature]	da 12d
[Printed name]	David No:11
Title:	151. dept. 100d
	3-21-17 ORATE 9
Address for giving no	tices:
	PAULSEN, INC.
	P.O. BOX 17
	COZAD, NE 69130
Telephone Number:	308/784-3333
Fax Number:	308/784-3310
Contact Name and e-r	
	DAVEN. PAULSEN COMPARER PAULSENIEUR
Bidder's License No.:	,
	(where applicable)